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(A ) 1" x:DOW=45680, MZFW=62600, MLDW=68040, MTOW=76850, TIF=9200, TOF=15600, #
CPE S 2

(A)15570 (B)16920 (C)16190 (D) %% 2+
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(A ) 2 @ % : MZFW=130000, MLDW=130000, MTOW=160000, DOW=90000, TIF=20000, TOF=30000
AU 530000, ptApdE 72 Az f € £ take off weights @2
(A)150000 (B)160000 (C)170000 (D) »3%% 2=

B b3 50:0012556 AL e .2 % R %
(C ) 3 @& & MZFW=130000, MLDW=140000, MTOW=170000, DOW=90000, TIF=20000, TOF=30000
A 540000, ¢ Apd 72 4= & £ € take off weight @7
(A)120000 (B)140000 (C)160000 (D) 238 2=
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(A ) 4 & F: MZFW=130000, MLDW=140000, MTOW=170000, DOW=90000, TIF=20000, TOF=30000
Payload=40000, p-Apd 72 ¥ 3% i€ € operating weightz #?
(A)120000 (B)150000 (C)160000 (D) 238 '% £
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(A ) 5" F: ZFW=A, LDW=B, TOW=C, DOW=D, TIF=E, TOF=F, +# # i*€£ & 5G (Operating
weight), @5 H, 77l & m?"
(AM)A=D+H (B)A=C-E (C)A=G-F (D) 238 £

B b B28:0012509 BE e 2 5 R 4
(A ) 6" s ZFW=A, LDW=B, TOW=C, DOW=D, TIF=E, TOF=F, +# & i*€ & 5G (Operating
weight), ' 5H, T 7l@ —*Ff hy v
(A)A=D+H (B)C=D+E (C)B=C-F (D) »3r ¢ -

B4 k855 :0012560 %50 2% B 5
(A) 7TE% X 4 A& + " %#c(Reduction Factor) = ?
(A) index units. (B)total moments. (C) CG from LEMAC.

F4e82%.:0012561 A0 2% B 2
(C ) 8 Aerodynamic chord 2. % & 5 @ ?
(Mratio of the average wing chord to its aerodynamic center of pressure. (B)"
distance from the leading edge to the trailing edge of the wing, measured at
the wing root." (C) chord of an imaginary airfoil which has the same aerodynamic
characteristics as the actual airfoil.
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(B ) 10 & aCoheim 22
(Mmultiplying total arms by total weight. (B)dividing total moments by total
weight. (C)multiplying total weight by total moments.

4o 82%.:0012564 A0 2% B2
(B ) 11 Taxi weight &*?
(A)Payload plus operating weight. (B) Zero fuel weight plus total fuel load.
(C)"Zero fuel weight plus payload, fuel, and oil."

B b B8%55:0012565 4220 5 2%
(B ) 12 3@ F &4 T beid DR BEARA?
(A)For fire fighting (B)Reduce the bending moment of the wing (C)Prevent tail
down during refueling

F 4o k855 :0012566 420 ¥ % B %
(B ) 13TOW = 457
(A)ZFW + Trip fuel (B)DOW + Payload + TOF (C)DOW + Trip fuel

488 %0:0012567 fEe 0 ¥k B2
(C ) 1438 TOW : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A)4700kg (B)5100kg (C)4900kg

B e d8%5:0012568 420 25 A5 (R20140804)
(C ) 15 ZFW 4+ TOF %7
(A)DOW (B)Landing weight (C)TOW (D)Aircraft gross weight
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(C ) 19 RAgi > T 7 F2
(D WA AE F (basicweight) (B)4= & ¢ £ (take of f fuel) (C) % o & £ (zero fuel
weight) (D) 238'¢ 2t
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(A)33. 3%MAC (B)21.4%MAC (C)23. 1%MAC (D) 2 3n ' 2t
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(C ) 29 ¢ 4 NTOW= 283 wg, MLDW=213 »g, MZFW=204#%, DOW=114 =g, Trip fuel = 75 #¢, take
off fuel=85 #f, 4B TV K2 &+ ﬁ“’i\mammum allowable payload 7 #?
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(B) 30 "e A
Z% - 1100/=% 30
EEA () £170/ % -45
2% £160/ =% 42
R ig4 £50/ =% -50
AN AR
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AT e B P L Emaximum allowed traffic loads 7
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(B ) 58 MELR HEwimh T ¥ Amg kdr:
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(B ) 70 #PaXfm ki s "FELIHE" L1 &P h3
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(D)* % cigrif
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(C ) 74 = Fv: MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=20000, TOF=40000
pApf T e kS AL E allowed weight for take offz ®7?
(A)160634 (B)170000 (C)165149 (D) 238 % 2=

B 4e42%2:0012628 42203 ¥ % 2% (R20130508)
(B ) 75 © F: MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=30000, TOF=40000
AT L2 B YL Emaximum allowed traffic loads 7
(A)40748 (B)40114 (C)38263 (D) »3#8% 2+



(A27) CPL{ £ = 7

BT L ATP & - 20180208 5 L ATAEEL - 12595-12598, 12615.

B 448 50:0012554 30 5% &0 5

(AD)

1 "Given: DOW=45680, MZFW=62600, MLDW=68040, MTOW=76850, TIF=9200, TOF=15600,
what 1s maximum payload ?"
(A)15570 (B)16920 (C)16190

4o B8%.:0012550 kw1 s B4

(AD)

2 "Given: MZFW=130000, MLDW=130000, MTOW=160000, DOW=90000, TIF=20000,
TOF=30000, Payload=30000, what is the take off weight for this flight?"
(A)150000 (B)160000 (C)170000

B4 X8 50:0012556 A2 spd AR

(C)

3 "Given: MZFW=130000, MLDW=140000, MTOW=170000, DOW=90000, TIF=20000,
TOF=30000, Payload=40000, what is the take off weight for this flight?"
(A)120000 (B)140000 (C)160000

B 422 50:0012557 g3 sk AR 5

(AD)

4 "Given: MZFW=130000, MLDW=140000, MTOW=170000, DOW=90000, TIF=20000,
TOF=30000, Payload=40000, what is the operating weight for this flight?"
(A)120000 (B)150000 (C)160000

B4 X8 50:0012558 Al s s AR 5

(AD)

5 "Given: ZFW=A, LDW=B, TOW=C, DOW=D, TIF=E, TOF=F, Operating weight=G,
Payload=H, I what is true?"
(A)A=D+H (B)A=C-E (C)A=G-F

B 442 50:0012559 A2 sk A 5

(A)

6 "Given: ZFW=A, LDW=B, TOW=C, DOW=D, TIF=E, TOF=F, Operating weight=G,
Payload=H, I what is true?"
(A)A=D+H (B)C=D+E (C)B=C-F

R4e38550:0012560 2.0 224 B : %

(AD)

7 Weight X Arm + the Reduction Factor is the formula used to determine ?
(A) index units. (B)total moments. (C) CG from LEMAC.

B 442 50:0012561 Age:0 sk & %

(C)

8 The term mean aerodynamic chord may be defined as the ?
(A)ratio of the average wing chord to its aerodynamic center of pressure. (B)"
distance from the leading edge to the trailing edge of the wing, measured at
the wing root." (C) chord of an imaginary airfoil which has the same aerodynamic
characteristics as the actual airfoil.

F4e82%.:0012562 A0 ¥k B 2



(C ) 9 "If the nosewheel of an airplane moves forward upon gear retraction, the CG
will?"
(A) move aft. (B) not move. (C)move forward.

b k8500012563 4220 # 5 B : 5
(B ) 10 The CG of an airplane can be determined by ?

(AMmultiplying total arms by total weight. (B)dividing total moments by total
weight. (C)multiplying total weight by total moments.

F 4 %8%55:0012564 350 ¥ % B 5
(B ) 11 Which of the following weight factors determine ramp or taxi weight?
(A)Payload plus operating weight. (B) Zero fuel weight plus total fuel load.
(C)"Zero fuel weight plus payload, fuel, and oil."

B b 48%5:0012565 4540 ¥ % B 5
(B ) 12 For what reason there is a standard procedure for fuel loading?
(A)For fire fighting (B)Reduce the bending moment of the wing (C)Prevent tail
down during refueling

F 4o 82%.:0012566 A5 e:0 ¥k B2
(B ) 13 TOW includes ?
(A)ZFW + Trip fuel (B)DOW + Payload + TOF (C)DOW + Trip fuel

B 448 50:0012567 5w 0 sk & 5
(C ) 14 Caculate the TOW : OW=3800kg ZFW=4200kg TOF=700kg Trip Fuel= 500kg
(A)4700kg (B)5100kg (C)4900kg

B b 88%55:0012568 4220 % 2: %  (R20140804)
(C ) 15 ZFW + TOF =?
(A)DOW (B)Landing weight (C)TOW (D)Aircraft gross weight

Fbek8%5:0012569 420 ¥ % B 5
(B ) 16 Payload not includes?
(A)Passenger (B)Fuel (C)Cargo

F4e82%0:0012570 f5e:0 2% B 2
(B ) 17 "For fuel saving, the C.G. of the transport aircraft should be

(A)in the forward of C.G. limitation (B)in the aftward of C.G. limitation (C)the
C.G. position has no effect on fuel saving

n

4o B8%0:0012571 %8e:0 ¥ % B %
( A ) 18 The main reason of carrying Ballast Fuel is because of
(A)the C.G. out of trim (B)the weight out of limit (C)fuel not enough

4o 88%0:0012572 A0 2% B 2
(C ) 19."In case of carrying Ballast Fuel, what weight should the ballast fuel be
included ?"
(Aaircraft basic weight (B)take off fuel (C)zero fuel weight

B4 X8 50:0012573 g0 sk 20 5



(C ) 20 which of the following description is FALSE
(A)ZFW=DOW+Payload (B)TOW=ZFW+T/0 fuel (C)LDW=TOW-T/0 fuel

F 4 %8%55:0012074 $5 0 ¥ % B . 5
(C ) 21 "Among ZFW, LDW, TOW, how to identify the most critical weight which limits the
maximum allowable payload for specific flight?"
(A)"the lightest weight of MZFW, MLDW, MTOW " (B)"the heaviest weight of
MZFW, MLDW, MTOW" (C)The weight which is closest to its respective max. weight

F4e82%0:0012575 A0 2% B 2
(C ) 22 "For longitudinal stability, the relation between LIFT force center and C.G.
for transport airplane is ?"

(A)1ift force center is forward of C.G. (B)lift force center overlap with C.G.
(C)1ift force center is aftward of C.G.

F 482 %0:0012576 A0 ¥k B2
(B ) 23 "For better control ability, which is TRUE?"
(AMAFT C.G. is preferred (B)FWD C.G. is preferred (C)independent of C.G.

4o B8 50:0012577 %580 ¥ % B %
(A ) 24 "For better maneuver ability, which is TRUE?"
(AMAFT C.G. is preferred (B)FWD C.G. is preferred (C)independent of C.G.

F 4o %055:0012078 fe 0 % B : 5
(B ) 25 The aircraft C.G. is finalized when completely loaded. What direction will the
C.G. move 1f we load something on specific direction ?
(A)The reverse direction on which something was loaded (B)The same direction
on which something was loaded (C)C.G. will not change

B4 X8 50:0012579 g0 s A2 5
(A ) 26 "For commerical airplane, what is the normal fuel usage sequence ? "

(A)"Ceter tank first , then main wing tank." (B)"Main wing tank, then center
tank" (C)depend on aircraft type

F 4 %8%55:0012080 45420 % B : 5
(B ) 27 "For long haul flight, the critical weight for allowable traffic load is normally
limited by"
(A)Maxomum landing weight (B)Maximum take of f weight (C)maximum zero fuel weight

B4 X8 50:0012581 A0 sk A2 5
(A ) 28 "Given: C.G. at 1400inch, LEMAC at 1300 inch, MAC=300, How much percent MAC is

C.G.position ?"
(A)33. 3%MAC (B)21. 4%MAC (C)23. 1%MAC

B 448 50:0012582 250 2% &0 %



(C ) 29 "Given: MTOW=283 tons, MLDW=213 tons, MZFW=204 tons, DOW=114 tons, Trip fuel
= 75 tons, take off fuel=85 tons, , what is the maximum allowable payload for
this flight?"

(A)90 tons (B)89 tons (C)84 tons

4o 82%50:0012583 Al ¥k B2

(B ) 30 "GIVEN:
Empty weight 1100 with Arm 30
Pilot (fwd seat) weight 170 with Arm -45
Passenger (aft seat) weight 160 with Arm +2
Ballast weight 50 with Arm -50
the CG is located at station"
(A)+15.91 (B)+15.66 (C)+15. 48

F 4 %8%55:0012084 352 % B 5

(A ) 31 "GIVEN:
Empty weight 937 with Arm 29. 07
Pilot (fwd seat) weight 170 with Arm -45. 30
Passenger (aft seat) weight 160 with Arm +1. 60
Ballast weight 15 with Arm —-45. 30
the CG is located at station"
(A)+14.91 (B)+16.43 (C)+27. 38

F b 82%5:0012585 42w .3 % & : % (R20140804)

(C ) 32 "GIVEN:
Empty weight 1100 with Arm 35
Pilot (fwd seat) weight 170 with Arm -40
Passenger (aft seat) weight 160 with Arm 45
Ballast weight 50 with Arm -50
the CG is located at station"
(A)19.27 (B)18.27 (€)20.27 (D)17.27

B4 %8%:0012086 4521 ¥ % B : % (R20131225)
(B ) 33 "GIVEN:
Weight A - 155 pounds at 55 inches aft of datum
Weight B - 165 pounds at 155 inches aft of datum
Weight C - 95 pounds at 175 inches aft of datum

Based on this information, the CG would be located how far aft of datum?"
(A)120.5 inches (B)122.2 inches (C)124.5 inches

B4 X8 500012587 g2 sk R 5



(A ) 34 "GIVEN:
Weight A - 155 pounds at 55 inches aft of datum
Weight B - 165 pounds at 145 inches aft of datum
Weight C - 95 pounds at 185 inches aft of datum
Based on this information, the CG would be located how far aft of datum?"
(A)120.5 inches (B)116.8 inches (C)124.5 inches

488 %.:0012588 f5 e :0 ¥k B %
(C ) 35 "GIVEN:
Weight A - 155 pounds at 45 inches aft of datum
Weight B - 165 pounds at 145 inches aft of datum
Weight C - 95 pounds at 195 inches aft of datum
Based on this information, the CG would be located how far aft of datum?"
(A)126.8 inches (B)122.2 inches (C)119.1 inches

4o %8%.:0012589 Aa el ¥ s B¢
(A ) 36 "Given: MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=20000,
TOF=30000, what is the allowed weight for take off for this flight ?"
(A)160634 (B)170000 (C)165149

F4e%8%55:0012590 4.2 % B o P
(B ) 37 "Given: MZFW=15830, MLDW=17000, MTOW=18370, DOW=10950, PAYLOAD=4640, TIF=1400,
min TOF=2130, what is maximum extra fuel the airplane can carry for this flight ?"

(A)1990 (B)650 (C)970

Fhe%8%55:0012091 fe 1 % B o P
(C ) 38 "Given: MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=23000,
TOF=40000, what is the maximum allowed traffic load for this flight ?"
(A)40748 (B)40114 (C)38263

Fdek855:0012092 452 ¥p 5 B oV
(B ) 39 "Given: MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=30000,
TOF=40000, what 1s the allowed weight for take off for this flight ?"
(A)160634 (B)170000 (C)165149

B 4-3850:0012593 Ag el £p% R Y
(C ) 40 "What is the maximum allowable weight that may be carried on a pallet which has
the dimensions of 48 x 48 inches?
Floor load limit: 159 lbs/sq ft
Pallet weight: 50 1bs

Tiedown devices: 30 1bs"
(A)"1,948. 0 pounds" (B)2624.0 pounds (C)2464.0 pounds

B4 42 50:0012594 A5 ke 2 2% R 0@



(B ) 41 "What is the maximum allowable weight that may be carried on a pallet which has
the dimensions of 48 x 48 inches?
Floor load limit: 169 Ibs/sq ft
Pallet weight: 47 lbs
Tiedown devices: 33 lbs"
(A)"1, 948. 0 pounds" (B)2624.0 pounds (C)2784.0 pounds

Fhe8285:0012595 42w .3 % 27 (R20180207)
(C ) 42 What is the maximum allowable weight that may be carried on a pallet which has
the dimensions of 60 x 48 inches?
Floor load limit: 159 Ibs/sq ft, Pallet weight: 63 lbs, Tiedown devices: 37 lbs.
(A)2080. 0 pounds. (B)2800.0 pounds. (C)3080.0 pounds.

B he88%5:0012596 42w .1 % 2.7 (R20180207)
(A ) 43 Whatminimum floor load limit must an aircraft have to carry the following pallet
of cargo?
Pallet size is 100 inches wide and 100 inches long, Pallet weight = 190 Ib,
Tiedown devices = 60 1b, Cargo weight = 10, 000 Ib.
(A)148 1b/sq ft. (B)138 1b/sq ft. (C)128 1b/sq ft.

B b %8%5:0012097 45 +:2 ¥ % B¢ (R20180207)
(B ) 44 Whatminimum floor load limit must an aircraft have to carry the following pallet
of cargo?
Pallet size is 78.9 inches wide and 78.9 inches long, Pallet weight = 161 Ib,
Tiedown devices = 44 1b, Cargo weight = 11,820.5 1b.
(A)283 1b/sq ft. (B)279 1b/sq ft. (C)183 1b/sq ft.

B he82%5:0012598 42w .3 % 2.7 (R20180207)
(B ) 45 Whatminimum floor load limit must an aircraft have to carry the following pallet
of cargo?
Pallet size is 78.9 inches wide and 98.7 inches long, Pallet weight = 161 Ib,
Tiedown devices = 54 1b, Cargo weight = 11,810.5 1b.
(A)213 1b/sq ft. (B)223 1b/sq ft. (C)183 1b/sq ft.

B4 k855:0012099 451 ¥ B oV
(C ) 46 "GIVEN:

Total Weight 3037 Ib
CG location Station 56.6
Fuel consumption 12.7 gal/hr
Fuel CG Station 68.0
After I hour 45 minutes of flight time, the CG would be located at station"
(A)56.58 (B)55.88 (C)56. 08

B 4-3850:0012600 Ag 2 £p% B ¢



(A ) 47 "GIVEN:
Total Weight 3037 Ib
CG location Station 65
Fuel consumption 12.7 gal/hr
Fuel CG Station 68.0
After I hour 45 minutes of flight time, the CG would be located at station"
(A)64. 86 (B)65.86 (C)63. 86

4o %2%.:0012601 A2 .3 ¥ % B¢
(C ) 48 "GIVEN:

Total Weight 3037 Ib
CG location Station 66.6
Fuel consumption 12.7 gal/hr
Fuel CG Station 68.0
After I hour 45 minutes of flight time, the CG would be located at station"
(A)64. 86 (B)65.86 (C)66.54

F 4o %855:0012602 424 3% B : P

(C ) 49 "GIVEN:
Total Weight 3900 Ib
CG location Station 70
Fuel consumption 13.7 GPH
Fuel CG Station 68.0
After 1 hour 30 minutes of flight time, the CG would be located at station"
(A)T71.13 (B)72.12 (C)70.07

F 4 %8%55:0012603 4225 ¥ % B P
(A ) 50 "GIVEN:

Total Weight 4000 Ib
CG location Station 72
Fuel consumption 14 GPH
Fuel CG Station 60
After 2 hour 30 minutes of flight time, the CG would be located at station"
(A)T72.66 (B)72.12 (C)70.07

B 442 50:0012604 dgke 1 £p% R 0@



(B ) 51 "An aircraft is loaded to a gross weight of 4,800 pounds with three pieces of
luggage in the rear baggage compartment. The CG is located 94 inches aft of datum,
which is 1 inch aft of limits. If luggage which weights 90 pounds is moved from
the rear baggage compartment (145 inches aft of datum) to the front compartment
(45 inches aft of datum), what is the new CG?"

(A)93. 13 inches aft of datum. (B)92.13 inches aft of datum. (C)94. 13 inches aft
of datum.

F4e%255:0012605 42 ¥ % R o P

(C ) 52 "An aircraft is loaded to a gross weight of 4,800 pounds with three pieces of
luggage in the rear baggage compartment. The CG is located 96 inches aft of datum,
which is 1 inch aft of limits. If luggage which weights 90 pounds is moved from
the rear baggage compartment (145 inches aft of datum) to the front compartment
(45 inches aft of datum), what is the new CG?"
(A)96. 13 inches aft of datum. (B)95.13 inches aft of datum. (C)94. 13 inches aft
of datum.

Fhe%8%55:0012606 423 ¥ % B : ¥

(A ) 53 "An aircraft is loaded to a gross weight of 4,800 pounds with three pieces of
luggage in the rear baggage compartment. The CG is located 98 inches aft of datum,
which is 1 inch aft of limits. If luggage which weights 300 pounds is moved from
the rear baggage compartment (145 inches aft of datum) to the front compartment
(45 inches aft of datum), what is the new CG?"
(A)91. 75 inches aft of datum. (B)87.58 inches aft of datum. (C)83.58 inches aft
of datum.

B4 %855:0012607 fE ] ¥ B : P
(A ) 54 "An aircraft is loaded with a ramp weight of 3,650 pounds and having a CG of
96. 0, approximately how much baggage would have to be moved from the rear baggage
area at station 180 to the forward baggage area at station 80 in order to move
the CG to 94. 07"
(A)73.0 pounds. (B)36.5 pounds. (C)26.07 pounds.

F4e%2%.:0012608 A2 ¥k B¢
(C ) 5 "An aircraft is loaded with a ramp weight of 3,650 pounds and having a CG of
96. 0, approximately how much baggage would have to be moved from the rear baggage
area at station 180 to the forward baggage area at station 40 in order to move
the CG to 95.0?"
(A)52. 14 pounds. (B)104.29 pounds. (C)26.07 pounds.

F4e42%.:0012609 2.0 ¥p% B %
(A ) 56 From takeoff to landing the weight of airplane changes because:

(A)the fuel is reduced. (B)the water is reduced. (C)the serving supplies are
reduced



F4e%8%5:0012610 $5%+:0 ¥ % & : % (R20180109)
(C ) 57 "Before takeoff, the payload of airplane should:"
(A)consider the maximum takeoff weight. (B)consider the maximum landing weight.
(C)The other answers are all correct.

4o 88%.:0012611 %58 2:0 2% B : %
(B ) 58 "After an airplane is loaded completely, the position of C.G normally shows :
(A) CINDEX UNIT) (B)MAC9 (C)MOMENT

n

4o 88%0:0012612 %520 3% B %
(C ) 59 The range between FWD LIMIT and AFT LIMIT is called :
(AM.A.C. (B)chord line. (C)C.G range

B b 48%:0012613 4841 3% B 5
(C ) 60 The leading edge of M.A.C is abbreviated to:
(A)TEMAC (B)MAC (C)LEMAC

442 50:0012614 3w 2 sk AR 5

(A ) 61 The trailing edge of M.A.C. is abbreviated to:
(A)TEMAC (BOMAC (C)LEMAC

B 4e48%.:0012610 480 2% &% (R20180207)
(A ) 62The CG of an airplane will be by the fuel carried.
(Maffected greatly (B)no effect (C)affected less

4o 82%.:0012616 %520 2% B %
(C ) 63 he CG of aircraft is located at LEMAC 52 inches and TEMAC 98 inches, determine
the length of MAC.
(A)46 inches (B)98 inches (C)150 inches (D)52 inches

B 4-3850: 0012617 420 2% & %
(C ) 64 The distance from DATUM LINE to CG is
(AOM.A.C. (B)moment. (Clarm. (D)CG shift range.

4o 82%.:0012618 f5e:0 2% B 2

(C ) 65 "When two different weights of objects balance, the heavier one must be"
(A)the lesser moment. (B)the more moment. (C)the shorter arm. (D)the longer arm.

o 4e3250:0012619 220 2% B %
(B ) 66 Three axes of airplane pass through :
(A)the CG of wing. (B)CG. (C)LEMAC (D)TEMAC

4o 82%.:0012620 5520 2% B 2
(B ) 67 Which is the definition of C.G ?
(A)An unbalance point in airplane. (B)A balance point in airplan (C)An equal
pressure center point in airplane. (D)A fix point that never changes in airplane.

B 442 50:0012621 35w 0 sk &0 5



n

(C ) 68 "The sum of airplane weight, fix equipment, unusable fuel and oil is :
(A)zero fuel weight. (B)operational weight. (C)empty weight. (D)gross weight.

4o B880:0012622 %520 ¥ % 25 (R20180109)
(B ) 69 ( Weight * Arm ) / Reduction Factor = ?
(A)Distance from CG to DATUM LINE. (B)Index unit. (C)Basic moment.

4o 8250:0012623 A0 2% B2
(B ) 70 "What is the main purpose to follow
airplane ?"
(A)To obey CAA regulation. (B)To consider flight safety and economy (C)For
takeoff / landing possiblely encourter crosswind (D)For passenger comfort.

weight and balance limit "" during loading

B he88%5:0012624 422 .0 % 2: % (R20140509)
(Cc ) 7 If CG exceed limit. How can we solve the problem ?
(A)"By increasing or decreasing some weight, make CG back to limit. " (B)"By
shifting some weight, make CG back to limit." (C)The other are correct. (D)The
other are incorrect.

B b 8855:0012625 4220 5 B 4
(A ) 72 "If MAC long 280 inches, CG is at MAC22%. CG is :"
(Mafter the LEMAC 61. 6 inches. (B)before the LEMAC 61. 6 inches. (C)before the
TEMAC 61.6 inches. (D)after the TEMAC 61.6 inches.

Fr 442 50:0012626 3ge:] ¥ % R % (R20130508)

(A ) 73 "GIVEN:
MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=20000, TOF=30000, what

1s the maximum allowed traffic load ?
(A)40748 (B)40114 (C)38263

R e AT%5: 0012627 4802 $23 B: ¢ (R20130508)
(C ) 74 "GIVEN:
MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=20000, TOF=40000, what

1s the allowed weight for take off?
(A)160634 (B)170000 (C)165149

e AE%5: 0012628 4803 ¥23 A : 4 (R20130508)
(B ) 75 "GIVEN:
MZFW=130634, MLDW=145149, MTOW=170000, DOW=89886, TIF=30000, TOF=40000, what

1s the maximum allowed traffic load?
(A)40748 (B)40114 (C)38263
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